EARAROBREBRT —5 XN—ZXBISH—F

2022678118 (B) 7EXAH1H

I EFiRE B3= 5%

‘(fﬁ} W ‘I%EH?’JF&] ~ | & 10000 =

[AEE] 1 7&:2,400,000 F  237#&:960,000

375:600,000 3  437&:360,000 "  5i&:240,000 [

B®RE FRESS /IR HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
- ° : -3-)- - EE—
1 3| I—YT4—ILR o4 | BEE 1.(4_2).3 3-3-2-2 | 40.9 4 (4311) ?ﬁ%z )
R:IvRIVIA B:O—-VRU— #HBEIT7—L
S BEEAIRIE : -4-4- - RERIER (KH)
2011 | %227 7)L3Y A i et AR ° ‘:g;) =
RIZAX—RT 7Y BIUFA ALY HpR I v R
sy — . SHEER : -9-9- - N EFEE (KH
3lglg| Yaz=T—TW 4 8 ﬁsﬁg.o 1(54/24)4 8-9-9-9 |39.4 9 (433 %Eﬁiif( )
RIZAANTIZwIR B:E—=FT4X #HHe Em
i HRER 3 -6-7- - ERARHE— (KH)
N - BEL%A%: 0% SRS e | TP S e
RIIZRT VTV Bik—LRA—RK—L FHRE%S
==~ s o6 | HEIE 1:42.5 6-6-5-3 | 40.5| — 2 509 | SEET (KH)
51810 72T 23~ 56.0 NF) 3 |JIBER
R:AR—KT 7)Y B:VILRILS VP — pivat el
= = 8 3 | REF— 1:42.8 1-1-1-1 [ 41.4| - 3 519 | {EFHRZ (KH)
6 4| O0—RT4725 53.0 (1 3/4) () |FIEE=E
R:iO—IRA XA B:EAVITATVEYR SRl LK
o RRIEE : -8-6- - TREAS (AH
75| 5|—Ly FREF— o7 e (12413/23) 9-8-8-8 | 40.7 8 (4_630) P (KH)
RiAVI/RSAY B:TAITITVAT7A /=Y Tr—I
— P . 23- - (1)
s [ll 7| 7vE—t7 w1 Gus |7 |e) - | 7| e 1 Bagd
RPIRTA TSR B:UT7AUR BRI
N FH*F : -5-6- - AEFE (KH)
9l7] 8| 7OUI—sT—1 RN | 27 ° | o |EmEE
RS/ vIT4 BYI—FT—V ARETa—T7—LA
@ . BAEKR : -10-10~ - AIREEZ (KH)
10 )| JOARYY 5 sl 1.(465).4 10-10-10-10| 41.8 10 (535 et
RiI7—ZUT7Y B:DAILRRKR EAKIS
@ 11— —BERIEI
13—7F— 4,7,3,(1,8),10,6,9,5,2
20— — 4,7,3,1,8, (6,10),5,9,2
BEIES /S 4,3,7,1,10,8,6,5,9,2
40—7F— 4,3,10,1,7,8,6,5,9,2
0 ILRE
BB 3 410 JA R 1-3 1,420M & 1-3 4,280 3ER 1-3-9 60,3004
B B 3 200/ 3-9 6,650 B 3-1 6,020H 3Es 3-1-9 181,680MH
1 340 1-9 11,4609 5 & 1-3 4,350/
9 1,980H4 Ba 3-1 6,540

ABIC OV TRUTEREERRODDZE. THRIIZEL.




